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Exercise 6F

1 Inaclass of 25 students, 15 study French, 13 study Malay and
5 study neither language.
One of these students is chosen at random. What is the
probability that student studies both French and Malay?

OF the 32 students in a class, 18 play golf, 16 play the piano and
7 play both. How many play neither? One person is chosen at
random. Find the probability that:

a the student plays golf but not the piano,

b the student plays the piano but not golf.

w

In a town, 40% of the population read newspaper
A", 30% read newspaper ‘B, 10% read newspaper
“C’. It is found that 5% read both ‘A’ and ‘B’, 4%
read both ‘A’ and ‘C’ and 3% read both ‘B’ and ‘C’.
Also, 2% of the people read all three newspapers.
Find the probability that a person chosen at
random from the town

a readsonly ‘A’ b readsonly ‘B’

¢ reads none of the three newspapers.

For this question you will need to use
three circles in the Venn diagram — one
1o represent each newspaper.
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Exercise 6G

1 Four students from a group of ten are selected randomly to form
a team. What is the probability that both the students Sophie and
Jerome are in the chosen team?

2 There are 5 lemons and 3 limes in a fruit bowl. Two pieces of
fruit are selected at random. Find the probability that the selected
fruit are:

a two limes b two different pieces of fruit.

3 There are 7 red and 5 yellow fish in an aquarium. Three fish
are randomly caught in a net. Find the probability that the fish
caught were:

a allred b not all of the same color.

4 There are 4 green, 5 orange and 6 purple marbles in a jar. Three
‘marbles are randomly drawn from the jar. Find the probability
that the marbles selected are:

a all orange b all of a different color
c at least one green.
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Two archers Bill and Bob shoot a target in turns. The game
finishes when one of them scores the center. Bill is a better archer
and he starts first. The probability that Bill scores centre is 0.3,
‘while the probability that Bob scores centre is 0.25
a Find the probability that:
i Bob scores on his first shoot
Bill scores on his third shoot
Bob scores on his nth shoot.
b If pis the probability that Bill wins the game, show that
p=03+0525p
¢ Hence or otherwise find the probability that Bob wins the game.
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Exercise 6H

EXAM-STYLE DUESTIONS
1 The events A and B are such that P(4) = 0.4, P(B) = 0.6 and
P(4 U B)=0.7. Find these probabilities:

a P(ANB) b P(ANB") e P(A'UB)

2 Of the students in a class, 80% are taller than 160 cm and 75%
are not taller than 180 cm. If a student is randomly selected from
the class, find the probability that his height is a value between
160 cm and 180 cm.

3 IfP(4)=0.6, P(B)=0.55 and P(4 ~ B) = 0.2 find
a P(4UB)
b P(4' N B)
¢ P(AUB\(ANB))

4 IFP(ANB')=0.5P(An B)=02and P(4U B) = 0.85 find
a P(4)
b P(B)
c P(4'nB)
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i5 Show that for any two events 4 and B that are not impossible
P(4 B)x P(4U B) < P(4) x P(B)

Prove this formula for three events A, Band C.
PAUBUC)
=P(4) +P(B)+ P(C)~P(AN B)~P(AN C)~P(BAC) + PANBAC)

~

Use the properties of the probability function to show the last
property: Ac B = P(B\A)=P(B)- P(4)





